FAMCO

Split Case Double Suction Centrifugal Pump

SPLT & SPLT.M SERIES (50 Hz)

Ex) ATEX

TECHNICAL MANUAL

Mas Grup @m@@m@CEP;%;DEm@%<S>

ek mER0

Eylhl/2015
E)www.famcocorp.com -
' (D Telori-F Aoooc F o (2)S Uagiaio 0312) (58l o1)S)ju 1 joglS « (ylygs
) E-mail: info@famcocorp.com =
= (©) Fax:or) - FrEaarsEY 1P S U ¢ a Ly i odull (59529

(&) @famco_group



FAMCO

SPLT & SPLT.M Series m m
Split Case Double Suction Centrifugal Pump

General Information Mas Grup
Fields of Application Shaft Seal

o Water supply and booster stations. e Uncooled soft packed stuffing box with lantern ring is
« Irrigation, overhead irrigation. essential for the long shaft design.

. Drainage’ stations e There is a leakage setting device on the washing water
¢ Power stations. I|r_1e of packing. : .

« Industrial water supply systems. o Different types of mechanical seals are available on the

long or short shaft design pumps.

Firefighting systems.
e Marine applications.

« General applications in refineries. Technical Data
Pumped Liquids e Suction Nozzle : DN 80... DN 250
e Discharge Nozzle : DN 65...DN 200
Thin, clean, non-aggressive and non-explosive liquids * Operating Pressure + 16 - 20 Bar
I . a9 . V . Xplosive iqul e Speed Range : 960 — 3500 rpm
free from large solid particles or fibers. . )
. o ¢ Capacity Range :30-1800m?3/h
For special applications, please consult to MAS DAF « Head Range - 15-160 m

MAKINA SAN. A.S.
Identification Code

Design

e Single-stage axially split casing pumps with double SPLT.M 100-250 A
entry and radial impeller.

e Double entry, closed impeller is hydraulically thrust Design «+—
compensated. Mechanical Seal

* Lower casing is in-line design, suction and discharge Application
nozzles are on the same line. _

¢ Upper casing is self-aligning and it is easy to mount. _ Discharge Branch

o The NPSH values are reduced and high suction lifts ~ Nominal Diameter (mm)
are possible thanks to double suction impeller. Nominal Impeller <

o Two different designs can be applicable: Diameter
1. Long shaft design: For soft packing stuffing box, the Impeller Type <

length of the pump shaft is longer. It is also possible
to use mechanical seal on this design.

2. Short shaft design: For mechanical seal SPLT 100-250 A
applications, shaft length can be reduced. Therefore,
compact and rigid pumps are available.

Desigh «—
e Pump and motor are separate components connected Discharge Branch
to each other via flexible coupling and mounting on a Nominal Diameter (mm)
base plate. It is also possible to couple the pump to the
diesel engine.

Nominal Impeller <

Diameter
Bearings Impeller Type <
For pump groups A, B and C, there are ball bearings at
the both dead and drive end of the pump. For pump
groups D, E and F, a cylindrical roller bearing is installed
at the drive end of the pump and there is a ball bearing at
the dead end of the pump.
1

Cdwww.famcocorp.com ~

= LD Tel:oPi-F Aeooe 9 (2)5 Uagraa 0312) (5,54 01)S)ju Pl yioghS « (lygs

) E-mail: info@famcocorp.com =

Fax:ePl = FEA9ESIEP W SW oyl cuas oSuiuUL (59529

(&) @famco_group



FAMCO

SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

MAS

DAF

Interchangeability for Pumps Mas Grup
1A 35 £ & D
2| | S | Foy— B
3B com E§% % gjﬂ@a s
¢ e FOy e
S| | s £on g
6 1855}2-[;30 ﬁ% % S ]gﬂ @75 o
A
8 e 20— &

o | B F2n g

10| S 2O = S-EH-¢—5u
1) S fOn &

12| e FOn & -

13| S 05— &

14 | M fOn &

15 - 285|3.L3T15 % % giﬂi@ia e
16 | S 05 &

NME =

18 F | B 2O ]BH@E i,
19 | o 08— B e

EG)www.famcocorp.com
) E-mail: info@famcocorp.com

(@) @famco_group

ﬁ% CASING % IMPELLER E———-==——F—H SHAFT @

(1) Tel:oll-F Asooo k9

(5) Fax:ePl - FEIIESEY

STUFFING
BOX

BEARING
HOUSING

@ @ GLAND E BEARING

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

P SW oyl cual om.lgl.li:a 59)—9)



FAMCO

o jssls

egee

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Advantages

MAS |DAF

Mas Grup

High Performance Impeller
- Mininumaxial thrust because of double
suctioninpeller.
- Optional impeller wear rings.
e - Impeller passage with excellent hydraulic
. characteristics.

Adjusting Tap

water going to the stuffing box.

)
// /J% _
/ % ~The tap adjust the amount of

- Easily-adjustable.
// .11/[11:1/// 4
’/ %/;g// 7
\ N // Ja)
N / 70
y ap s \//// 0
QD IIXMN// U \

A‘/////

[T ANITEH AR SSXSS777 UN

Innovative Casing
- Invline design.
- Short distance between bearings and also
short shetft.
- Leakfree thanks to cormpact casing split flange
with long prestressed bolts.
- Change of the direction of rotation.
- Easy mounting of self aligning upper casing.
Easy to Service Shaft
- Conpletely sealed and dry for zero comosion /
- Short and rigid with negligible vibrations. 7
- Replaceable shaft protecting sleeves. /
- Asserbly without requiring adjustrment.
- Fast and easy asssembly/dismantling of the
rotor components due to elastically prestressed o
mountings.
7
A \\\\ AN\ \\///// 7
W/\\\ \/////////ll//,
m N\
/, IiW/ /\\\ NI
% i ’i\\\\\\\\\\\m\{<<\\\><><w -\w/ = ’\\
'7//\\ \"”
) \ *\//////
\\\u
/
//
Seals tailored to the application /
- Asbestos-free gand packing meeting drinking
water quality standarts.
- Split glands, anple space for servidng. \
- Mechanical seal applications are available. ]
Ny
\
Excellent Efficiency and NPSH Values \\
- Smooth surfaces inside the casing and onthe inpeller. |\
- Large inlet aross sectional areas for optimumsuction \
behaviour. \\
- High effidency due to replaceable casing and inpeller N
wear fing. N
- Quiet, lowwear rumning due to swirl-free intake elbow N
with low energy loss.

\ AN \\\\\//////////////////////////// \g
\\ N\ l‘

\mm_qﬁu‘u///

SO L

AN ,_
=

t -II-\-!

AAIAAIAIAIA T IAIA SIS IS

}7/////\\'

Long Life Bearings
- Gease-lubricated rolling element bearings for
& long service life in all operating range.
— - Closed besring brackets for low-roise and low
\\\\\\\\\\\ ‘ vibration operation.
\ )

E)www.famcocorp.com

) E-mail: info@famcocorp.com

(&) @famco_group

(0 Tel:obl-F Aoooo 9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

o jssls

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

ATEX Description

ATEX Codification

ATEX -95

@ I12G /D ¢ Tx (85 °C — 200 °C)

Equipment Groups (Annex | of Directive 94/9/EC)
Group |
{minas, mine gas and dust)

MAS

DAF

Group 1l

({other explosive atmospheres gas/dust)

Catagory 1 Category 2 Category 3
Category M 1 | Category M 2 G D G D G D
(gas) {dust) (gas) {dust) (gas) {dust)
{(Zone 0) | (Zone 20) | (Zone 1) | (Zone 21) | (Zone 2) | (Zone 22)
For For For equipment For equipment For equipment
aquipment aquipmeant providing a very high | providing a high level | providing a normal
providing a providing a lewel of protection of protection when level of protection
vary high hiah level of when usad in areas usad in areas whare | when used in areas
level of protection where an explosive an explosive where an explosive
protaection when hkely to | atmosphere i1s very atmospheare is likely atmosphere is less
when be likely to ocour to ocour likely to occur
endangerad endangerad
by an by an
axplosive axplosive
atmaosphere atmosphera
TEMPERATURE CLASS
Temperature class Ignition temperature of | Allowable temperature
required by the area :
ol gas or vapor classes of equipment
classification
T1 >450 °C T1-T6
T2 > 300 °C T2-T6
T3 >200 °C T3-T6
T4 >135°C T4-T6
T5 >100 °C T5-T6
T6 >85°C T6
Code | Description

The Usage in other non-mining explosive atmospheres

2. Category: High level of protection

For potentially explosive environments due to gases or vapors

Temperature class

ATEX Marking of the motor manufacturer

Mas

Grup

G)www.famcocorp.com

@! E-mail: info@famcocorp.com

(_’ Tel:oP1-F A oo oo 9

©) Fax:op) - FEAIFESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl ioglsS « oy lgs

il JU:': suu_}L;:lLﬁJ ougug 599




FAMCO

CaRiio)asls
SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m]
Cross-Sectional Drawing For SPLT Mas Grup
210 35 200 30 321 50 301 02 362 20 261 05 212 401 276 300 360 34 201 270 36

320 72 60 400 56 01 211 70 240 54 67 220 363 361
PART LIST
PART NO PART NAME PART NO PART NAME

01 Casing Lower Part 211 Key for Impeller

02 Casing Upper Part 212 Key for Wearing Ring
05 Wear Ring 220 Oil Seal

20 Impeller 240 Soft Packing

30 Bearing Housing 261 Plug

34 Bearing Cover (Dead Side) 270 Greaser

35 Bearing Cover (Motor Side) 276 Adjusting Tap

36 Bearing Housing Cover 300 Stud for Gland

50 Stuffing Box 301 Casing Stud

54 Gland 320 Hexagonal Bolt

56 Lantern Ring 321 Bolt

60 Pump Shaft 360 Nut for Gland

67 Space Sleeve 361 Nut for Bearing

70 Bushing for Seal 362 Nut for Casing Stud
72 Bushing for Bearing 363 W asher for Bearing
200 Roller Bearing 400 O-Ring (Shaft Sleeve)
201 Ball Bearing 401 O-Ring (Stuffing Box)
210 Key for Coupling

5

E)www.famcocorp.com P _
L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
) E-mail: info@famcocorp.com =
. (Z) Fax:eP)l - FFIaFESEY 1P Sl cuds oBuiuUL (59549
(©) @famco_group =



FAMCO

o jssls

SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
Cross-Sectional Drawing For SPLT.M

MAS |DAF

210 270 230 30 50 02 301 20 361 05 65 250 276 34 201 363 36
|
S
\
\
‘ -
/ \
® | NN | d
\
a—t ggw\ ‘ =
[LL = e | | o e eeeeean N 1
\ \
| h \§
I \
{ |
777777 I O = = I
\
\
\
\
\
AN — ‘ — e
§ \
\ \ /
\ | /
/
\
\\ | //
‘ / /
N \
AN s
\\ re ‘
l ~ —
| [ e \
| [ \
320 35 200 220 58 Of 211 261 212 60 400 401 322 321 72 360
PART LIST
PART PART
NO PART NAME NO PART NAME
01 Casing Lower Part 212 Key for Wearing Ring
02 Casing Upper Part 220 Oil Seal
05 Wear Ring 230 Safety Ring
20 Impeller 250 Mechanical Seal
30 Bearing Housing 261 Plug
34 Bearing Cover (Dead Side) 270 Greaser
35 Bearing Cover (Motor Side) 276 Adjusting Tap
36 Bearing Housing Cover 301 Casing Stud
50 Stuffing Box 320 Hexagonal Bolt
58 Mech. Seal Cover 321 Bolt
60 Pump Shaft 322 Bolt for Mech. Seal Cover
65 Impeller Nut 361 Nut for Casing Stud
72 Bushing for Bearing 362 Nut for Casing Stud
200 Roller Bearing 363 W asher for Bearing
201 Ball Bearing 400 0O-Ring (Shaft Sleeve)
210 Key for Coupling 401 0O-Ring (Stuffing Box)
211 Key for Impeller

)www.famcocorp.com

ﬁfv E-mail: info@famcocorp.com

(c) @famco_group

() Tel:oPl-E Acooo k9

) Fax:op) - FEAIESEP

Mas Grup

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW b cuds oBuliull (59549)




FAMCO

o jssls

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Data

Bearings, Stuffing-Box for SPLT (Soft Packing Design)

MAS

DAF

Mas Grup

360300 56 02 05
P 01 Casing Lower Part
g / 02 | Casing Upper Part
IS i n .
SNY //4{, 05 | Wearing Ring
N N\ AN 20 | Impeller
N ‘ ’ § 50 | Stuffing Box
] 56 | Lantern Ring
] 240 | Soft Packing
L \\\\\\\\\\L\\\\\\w 300 | Stud for Gland
';\ 360 | Nut for Gland
SN\N
N 2.
54 240 01 50 20
Bearing Bearing Soft Packing .
PumpType | Motor Side) | (Dead Side) | (@D1x@D2xbxT) (mm) Sealing

SPLT 65-250 6307 C3 6307 C3 J61xD45x8x55.5 2x(4 Soft Packing +1 Lantern Ring)
SPLT 80-250
SPLT 80-360 6308 C3 6308 C3 75X B55x10x76 2x(5 Soft Packing +1 Lantern Ring)
SPLT 100-250
SPLT 100-315 . .
SPLT 150-250 6310 C3 6310 C3 FI0XDB66x12X75 2x(4 Soft Packing +1 Lantern Ring)
SPLT 125-400
SPLT 150-315
SPLT 150-400 . .
SPLT 150-500 NU 312 6312 C3 3106X378x14x105 2x(5 Soft Packing +1 Lantern Ring)
SPLT 200-315
SPLT 200-400
SPLT 200-500
SPLT 250-400 . .
SPLT 250-315 NU 314 6314 C3 3116X388x14x105 2x(5 Soft Packing +1 Lantern Ring)
SPLT 250-500
SPLT 350-400
SPLT 350-500 NU 316 6316 C3 @140XB100x20x140.5 | 2x(5 Soft Packing+1 Lantern Ring)
SPLT 500-500

Bearings, Stuffing-Box for SPLT.M (Compact Design with Mechanical Seal)

E)www.famcocorp.com

E-mail: info@famcocorp.com

@famco_group

(D) Tel:obiI-F Aoooo 9

) Fax:op) - FEAIESEP

Bearing Bearing Mech. Seal
Pump Type (Motor Side) (Dead Side) Dlzar:1;;er Sealing
SPLT.M 65-250 6306 C3 6306 C3 @35 M3N or MG1
SPLT.M 80-250
SPLT.M 80-360 6307 C3 6307 C3 @40 M3N or MG1
SPLT.M 100-250
SPLT.M 100-315
SPLT.M 150-250 6309 C3 6309 C3 50 M3N or MG1
SPLT.M 125-400
SPLT.M 150-315
SPLT.M 150-400
SPLT.M 150-500 NU 311 6311 C3 @60 M3N or MG1
SPLT.M 200-315
SPLT.M 200-400
SPLT.M 200-500
SPLT.M 250-400
SPLT.M 250-315 NU 313 6313 C3 a70 M3N or MG1
SPLT.M 250-500
SPLT.M 350-400 NU 315 6315C3 @80 M3N or MG1
7

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMCO

egee

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Mechanical Seal Applications for SPLT.M

BURGMANN M3N
e Single Seal
¢ Unbalanced
e Conical Spring
e Dependent on direction of rotation
e ToEN 12756

30 58 250

’’’’’ J
220 50 20

BURGMANN MG1

Single Seal
Unbalanced
Elastomer Bellows

[ )
[ )
[ )
¢ Independent on direction of rotation

20 50 58 220

>

T
g
\
\

E)www.famcocorp.com

() E-mail: info@famcocorp.com

(&) @famco_group

MAS

DAF

Mas Grup

p1 : 10 Bar
t :-20...180 °C
Vg :10 m/s
Axial Movement | : 1,0 mm
Part No Part Name
20 Impeller
30 Bearing Housing
50 Stuffing Box
58 Mech. Seal Cover
220 Qil Seal
250 Mechanical Seal
p1 : 12 Bar
t :-20...120 °C
Vg ;10 m/s
Part No Part Name
20 Impeller
05 Wearing Ring
50 Stuffing Box
58 Mech. Seal Cover
220 Qil Seal
250 Mechanical Seal

(D) Tel:obiI-F Aoooo 9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMCO

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m

Installation Types Mas Grup

Horizontal Installation with Diesel

-|
|

5 4
, - i : - GROUND
7 CONCRETE IR Z%
o o ‘ ‘ : STRAFOR
7

Direction of rotation anticlockwise Direction of rotation clockwise
(Viewed from the drive end) (Viewed from the drive end)

Direction of Rotation / Flow

Ch)www.famcocorp.com ~
0 Tel:ePI-FF Ao ooo £ 9 (255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs
=) E-mail: info@famcocorp.com

() Fax:oPl - FEQ9FESEP WS ¢yl cudt suiull §9549)
(&) @famco_group -



FAMCO

o jssls

egee

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Technical Data

Material Options

MAS |DAF

Mas Grup

Components Material. No | v | © g - | = | =
N < n N (= o
8RR |=2|3|3 3
o o N - L -
Casing e |lo|oO o] o
Impeller e |lo|oO o] o
Shaft e | 0| O
Casing Wear Ring e | 0|0 ]| O
Stuffing Box e |lo|oO o] o
Gland e | o o |l o e — Standard Manufacturing
Bearing Housing o 0 — Optional
Bearing Cover °
Material Equivalent
Description DIN 17007 EN-DIN ASTM
Cast Iron 0.6025 GJL-250 (GG25) A 48 Class 40-B
Nodular Cast Iron 0.7040 GJS-400-15 (GGG40) A 536 Gr.60-40-18
Cast Bronze 2.1050.01 G-Cu Sn 10 B 584 C 90700
Chrome Steel 1.4021 X20 Cr 13 A 276 Type 420
Chrome Nickel Steel 1.4301 X5 Cr Ni 18.9 A 276 Type 304
Chrome Nickel Molybdenum Steel 1.4401 X5 Cr Ni Mo 18.10 A 276 Type 316
PN 16 Flange Dimension
DN Df T z o B
mm @ mmg | mmo | Each | mmg | mm
DN 65 185 145 4 18 20
DN 80 200 160 8 18 22
DN 100 220 180 8 18 24
DN 125 250 210 8 18 26
DN 150 285 240 8 23 26
DN 200 340 295 12 23 30
DN 250 405 355 12 27 32
DN 300 460 410 12 27 32
DN 350 520 470 16 27 36
DN 400 580 525 16 30 38
DN Df T z o B
mm @ mmo | mmo | Each | mmg | mm
DN 250 395 350 12 23 28
DN 300 445 400 12 23 28
DN 350 505 460 16 23 30
DN 400 565 515 16 27 32
DN 500 670 620 20 27 34
10

E)www.famcocorp.com
I‘:Z‘v E-mail: info@famcocorp.com

(@) @famco_group

() Tel:oPl-E Acooo k9

©) Fax:op) - FEAIFESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

o jssls

egee

SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Pump Flange Classification

Pump Flanges
Type DNs (mm) DNd (mm)
(Suction) (Discharge)
65-250 100 65
80-250 125 80
80-360 125 80
100-250 150 100
100-315 150 100
150-250 200 PN 16 150
125-400 150 125
150-315 200 150
150-400 200 150
150-500 | 200 150 PN 16
200-315 250 200
200-400 250 200
200-500 250 200
250-315 300 250
250-400 300 PN 10 250
250-500 300 250
350-400 400 350
350-500 400 350
500-500 500 500 PN 10

Salmastra Kutusu Ve Salmastra Burcu O-Ring Boyutlari

ad

@ @ -

Stuffing Box O-Ring

Seal Sleeve O-Ring

MAS |DAF

Mas Grup

Pump O-Ring fBo(:xStufflng O-Ring for Seal Sleeve
Type | @d | b 2d b

] m) | mm) | 9 | (mm) | mm) | O
65-250 » » n 30

80-250

80-360 | 145 43

100-250

100-315 | 168 50

125400 3

150-315

150-400 | 190 60

150-500

200-315 4 3 2
200-400

200-500

250-400 200 70

250-315

250-500 4

350-400

350-500 | 260 80

500-500

Note: There are O-rings both for stuffing boxes and seal sleeves at SPLT. However, since there is no seal sleeve, there

are only O-rings for stuffing boxes at SPLT.M.

Elwww.famcocorp.com

@famco_group

) E-mail: info@famcocorp.com

11

(1) Tel:oll-F Asooo k9

(2) Fax:oP) - FEAIESEY

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMCO

o jssls

egee

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Data

Keys for SPLT and SPLT.M (DIN 6885 A)

Pump Type Imp(erlr:(:r:)Key Couz:':ng) Key Material
65-250 10x8x40 8x7x55
80-250 12x8x116 10x8x75
80-360 12x8x116 10x8x75
100-250 12x8x116 10x8x75
100-315 14x9x132 14x9x105 St 50
125-400 16x10x124 16x10x100
150-315 16x10x124 16x10x100
150-400 16x10x124 16x10x100
150-500 16x10x124 16x10x100 AISI 304
200-315 16x10x154 16x10x100
200-400 16x10x154 16x10x100
200-500 16x10x180 18x11x135 AlSI 316
250-400 16x10x180 18x11x135
250-315 16x10x200 18x11x135
250-500 16x10x200 18x11x135
350-400 20x12x205 20x12x135

Key material AlISI 304 and AISI 316 are optional.

Studs for SPLT and SPLT.M

(&) @famco_group

MAS

DAF

| L 7'8
a b
L

Pump Stud for Casing Stud for Gland Material
Type D al|b L d a|b L
65-250 | M12 | 15| 20| 55 | M10 | 25| 15| 65
80-250 | M14 |20 | 25| 70 | M12 | 25| 15| 70
80-360 | M14 |20 | 25| 70 | M12 [ 25| 15| 70
100-250 | M14 |20 [ 25| 75 [ M12 | 25| 15 | 70
100-315 | M14 | 20 [ 30 | 65 | M14 | 30 | 20 | 80
125-400 | M20 |35 [ 30| 95 [ M14 |30 |25 | 130 | C22B
150-315 | M20 | 35 | 30 | 95 | M14 | 30 | 25 | 130
150-400 | M20 | 35 [ 30 | 95 | M14 | 30 | 25 | 130
150-500 | M20 | 35 | 30 | 95 | M14 | 30 | 25 | 130 | AlSI 304
200-315 | M20 [ 30 [ 30 | 95 | M14 | 30 | 25 | 130
200-400 | M20 | 40 | 30 | 95 | M14 | 30 | 25 | 130 | Aq| 316
200-500 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-400 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-315 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-500 | M24 [ 40 [ 30| 95 | M16 | 35 | 30 | 130
350-400 | M27 | 40 | 30 | 110 | M20 | 35 | 30 | 130

Stud material AlSI 304 and AISI 316 are optional.

E-mail: info@famcocorp.com

12

(1) Tel:oll-F Asooo k9

) Fax:op) - FEAIESEP

Mas Grup

Note: Since there is no gland for SPLT.M, SPLT.M type does not contain stud for gland.

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMCO

o jssls

egee

SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Gland for SPLT

MAS |DAF

Mas Grup

/]
fa) ig Q
it
c.]
oA | OB c D E F aG .
Pump TYPe | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | Material
65-250 37 47 19 88 15 34 15
80-250 555 | 75 19 115 16 35 14
80-360 555 | 75 19 115 16 35 14
100-250 555 | 75 19 115 16 35 14
100-315 555 | 89 31 145 20 51 16
125-400 65,5 | 106 30 155 22 52 16| buctile Iron
150-315 785 | 106 30 155 22 52 16 GGG 40
150-400 78,5 | 106 30 155 22 52 16
150-500 78,5 | 106 30 155 22 52 16 Bronze
200-315 785 | 106 30 155 22 52 16 | G-CuSn 10
200-400 78,5 | 106 30 155 22 52 16
200-500 78,5 | 106 30 170 | 22,5 | 52,5 | 18
250-400 88,5 | 116 30 170 | 22,5 | 52,5 | 18
250-315 88,5 | 116 30 170 | 22,5 | 52,5 | 18
250-500 88,5 | 116 30 170 | 22,5 | 52,5 | 18
350-400 103 | 140 30 185 24 54 23
Bolts for SPLT and SPLT.M (DIN 931)
Bearing Bearing
PumpType Cover Qnty. | Housing | Qnty. | Material
Bolt Bolt
65-250 M6x20 8 M10x30 8
80-250 M8x30 8 M10x35 8
80-360 M8x30 8 M10x35 8
100-250 M8x30 8 M10x35 8
100-315 M10x30 8 M10x35 8
125-400 M10x85 8 M12x45 8 c22B
150-315 M10x85 8 M12x45 8
150-400 M10x85 8 M12x45 8
150-500 M10x85 8 M12x45 8 AlSI 304
200-315 M10x85 8 M12x45 8
200-400 M10x85 8 M12x45 8 AlSI 316
200-500 M10x85 12 M12x45 16
250-400 M10x85 12 M12x45 16
250-315 M10x85 12 M12x45 16
250-500 M10x85 12 M12x45 16
350-400 | M12x115 16 M16x60 16
13

(&) @famco_group

)www.famcocorp.com

E-mail: info@famcocorp.com

() Tel:oPl-E Acooo k9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW b cuds oBuliull (59549)




FAMCO

egee

ur 1 « wPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Plugs, Greaser and Adjusting Taps for SPLT and SPLT.M Pumps

Pump
Type

Casing
Plug

Qnty.

Bearing
Housing
Plug

Qnty.

Material

65-250

80-250

80-360

100-250

100-315

125-400

150-315

150-400

150-500

200-315

200-400

200-500

250-400

250-315

250-500

350-400

1

2

RV’

RV

R 3/8”

Ms 58

Pump
Type

Adjusting
Taps

Qnty.

Flange
Plug

Qnty.

Material

65-250

80-250

80-360

100-250

100-315

125-400

150-315

150-400

150-500

200-315

200-400

200-500

250-400

250-315

250-500

350-400

R 3/8”

R 3/8”

R 1/2

Ms 58

(&) @famco_group

E-mail: info@famcocorp.com

14

(1) Tel:oll-F Asooo k9

) Fax:op) - FEAIESEP

MAS |DAF

Mas Grup

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

o jssls

ur 1 « wPLT.M Series

Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 65-250

MAS

DAF

Mas Grup

|mm Curve No'625.a 4P 50 m m Curve No:625.a 2P 50
MAS GRUP SPLT 65-250 1450 RPM Hz. MAS GRUP SPLT 65-250 2980 RPM Hz.
Q-CAPACITY - [Vsn) Q- CAPACITY- W)
0 5 10 15 20 % 30 0 10 2 30 40 50 60
1 | | | | | 1 | 1 | 1 1 l |
25] 30| 40__ 50_gg 40| 50 55 |
_ Ppum B _ 100260 €0 &5 Ll
£ 6456 E 68.4
: 08 7\53 . l— 2404 bl
o — 233s a
= 2 60 = 801—2208 hE5
T = f 50
= x s 2104
S 203l b
K 15 ~ iy = 50 v
E £ \ 55
== \ 40 I >(
10 v X % 40 50
5 20
§ 0
g s £ 60
£, e 2608 - 75 KW £ s 2608 - 55 kW
1] 1
X 6 ] o / 24ﬂa—45‘l(w
w s B w40 ERE s canini
= 5 //"-‘2335 bl = // L 2280 - 37 KW
e ¢ ,/'/___ 2034 - 4 KW T - //__,);——:'“"’ kb
& 2 ] w 20 ____/A ]
o 2 a e ]
1
0 0
0 20 40 60 0 100 0 50 100 150 200
Q - CAPACITY - (m3/h) Q -CAPACITY - (m3/h)
-~ 5 ;) - 10 1L
E . [/ 26t E  2ts
T 3 522 T 6 2109 //
G, wig vy e
Z < 2
0 0

15

E)www.famcocorp.com P _
(%) Tel:oPl-F Aoooo F 9 (EJS uagsaio 03l2) (550 ol)S)ju Pl yioglsS « lgs
) E-mail: info@famcocorp.com

) Fax:op) - FEAIESEP
(©) @famco_group = °

W SW oyl cuas oSuiuUL (59529



FAMCO

o jssls

wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 80-360 Mas Grup
Curve No:825.a. 4P Curve No:825.a 2P
[MAS DAF| 50 MAS DAF 50
MAS GRUP SPLT 80-250 1450 RPM Hz. MAS GRUP SPLT 80-250 2980 RPM Hz.
Q- CAPACITY - [sn] Q-CAPACITY - [sn]
0 1‘0 210 3|0 1] 1‘0 2|0 3[0 4[0 510 EICI
30 1 ‘
e VS R L 8 1 1201 5784 :*4"75“*5‘0 ST Tes[ L]
- i 1713 = 67.7
El, 25 T\%ﬂ 20 E', 100—-2551! / f/ / 77\27
2 = 2498 J fQ\ 65 2 L 2249 \;5
: T R B [
= 20 o —-_.J__J_ \ = 80 |=2308 T
: i S sl
g W \\< ™ £ " s
10 \ 40
5 20
0 100
12
g 10 /27‘8ﬁ71IKW E 80 2784 - 90 KW
é 8 Frh i é 60 // 2hom TSR
% " T ’/vmo—?.s KW % %—"///24«-55 KW
i e & 40| e - WL T
' i EEEEEEET e 6@ - 5.5 KW 0 ——__‘____% B
E 5 ___..-—-""""‘_,..—- o g ?___.——-—-—'
0 0
0 20 40 60 80 100 120 0 50 100 150 200
Q - CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
= 4 2264 28 = 5 i ==
‘E-‘ 3 / '; : ‘? 7 2209 — s
5 2 St = & =
o o 3
= 1 =2 2
1
0 ]
16
Jwww.famcocorp.com
Q i (D Tel:obl-F A o000 F 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
;‘,v: E-mail: info@famcocorp.com -
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

(@) @famco_group



FAMCO

u.aunJ..:l.;llﬁ
wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 80-360 Mas Grup
Curve No:840 a.4P Curve No:840.a.2P
[M4s | DAF] 50 (M43 [DAF] 50
MAS GRUP SPLT 80-360 1460 RPM Hz. MAS GRUP SPLT 80-360 2980 RPM Hz.
Q- CAPACITY - (fsn) Q- CAPACITY - [lfsn]
0 1|0 2[0 3‘0 4|0 0 110 2‘0 3‘0 A‘D 5‘0 GLG 70 80 E‘ﬂ
‘ 200 ‘t [
| 3600 .00 [ 40]| | 0]l g5 . L ge0p L3040 450 w0 | g
P - 58
E 40|—344g J M 619 E  |—sap [ 595
: i :
Q I 3224 4 t§ 50 S 150 = 3040 7\53
£ Ne 2 :
55 -
= = 306# i
5 |~ 2900 = N 50 s L 288s
100 f= 2754 ~— N
£ i _-zszu]! S £ T >/
e iy o o
10 >\§\// M »
\\_ 30
2 0
g g = !‘ 36 200 KW
5 20 /l——ascm—rza Kw| < 3 / o -
o | ek 3445 - 185 KW @ 150 | 344d - 160 KW
g2 15 122015 kW g / — 3248 - 132 KW
5 /“/ﬁ""‘—-ﬁ i § 100 L A‘,’:—-—’ﬂﬂﬁﬂ*m Kw
o 10 T et e 290 - 11 KW. e 288 - 110 KW
: L [msss=s tH | ' | e Y- kW
i = S LY Y W
e 1 1
0 | 0 !
0 20 40 60 80 100 120 140 160 0 50 100 150 200 250 300
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
12 - .
= 4 | 360 = 10 | # 3600
$. ; !243 5 Ef 8 2758
b= o L R g T 5 ‘
3 2 e 5 o s
Z 1 g ] |
0 0 L
17
Swww.famcocorp.com .
10 Tel:eP1-F A oo oo 9 (2)5 Uagraa 0312) (5,54 01)S)ju Pl yioghS « (lygs
E-mail: info@famcocorp.com
(E) Fax:oP1 - FFAqESEP WS Wyl cuds 0BuiuUL (59,49,

) @famco_group




FAMCO

o jssls

or 1 « WPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 100-250 Mas Grup
Curve No:1031.a 4P Curve No:1031.a.2P
(#4s DAF] 50 [#as |DAF] 50
MAS GRUP SPLT 100-250 1480 RPM Hz. MAS GRUP SPLT 100-250 2980 RPM Hz.
Q- CAPACITY - [Ysn] Q-CAPACITY - ()
0 10 20 30 40 50 60 70 80 0 20 40 60 80 100 120 140 160
| 1 1 | : 1 1 | | 140 L | 4 | I | 1 | |
\
50 gp | 50 gp |
= 2949 —— 7075 ' = 29408 e 075 j
E 5 T—-T__ 80 = an E & T——!___ 80 33—335
= I 2804 _%M 83 = |— 2808 ~— 83
E 25 = 2658 ™, 80 E 100 | 2658 =l \\“
TR | EETHEAOKR
[} ©
5 2 —235;1I MXK\ N 2 80 !zssuI < I
£ = £ [ 70
z 2200 o i E s 2204 m\H ><
10 ~ 40 "
5 20
0 0
£ & g
£ 2949 - 22 KW X 150 e 294g - 160 KV
E 45 [ 2B0g - 185 KW o /___...—2305432 KW
g [ 2650 - 15 KW B e T KW
S 10 ".—’:g::,——"‘_zsnmnkw o /_//i/_:’—__“'::_-—-zsna—snkw
v T 2355 - 3 KW " e 2355 - 75 KW
& 52_——//——"’_—-220}—?5 Kw & 50 ﬁfﬁ 2208 - 55 KW
e e
0 0
0 50 100 150 200 250 0 100 200 300 400 500 600
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
3 T 9
= 2949 £ 8 T 2940
$ 3 2209 _/ ‘E‘ 5 12049
T o T &
A e £ i —m——
< | I = 5 i !
0 | ] 0 1
18
E)www.famcocorp.com e
_ L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
=) E-mail: info@famcocorp.com
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

(c) @famco_group



FAMCO

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 100-315

(M5 |DAF|

Curve No:1040.a.4P

mascrup| SPLT100-315 [1460rPM [}z
Q- CAPACITY- Wsr)
0 i 2 0 a0 0 60 70 a0
\ i
50 {— 3479 ol 160/65 7075 g
= / / : 799
¥ b 32708 X
75
2 4 i
w >< 70
T
P O
° |— 280
S swlnmmm T
é L— 2624
T
b 2330
20
\@ 60
i
10
0
g 40
£ ! L 3479 - 37 KW
1 1
@ 30 | iEn e
E I ——— ?zm 30 K
2 20 //.K.—-zah-zk xwHHHHHHH
! 2600 - 18.5 KW
g //‘/2;29 15 KW
‘ ‘
0 - -
0 50 100 150 200 250 300
Q - CAPACITY - (m3/h)
= | 2 347
E® 2394 r ?
T 2 , /'/
2 .—/
Z f
(1]

) @famco_group

Jwww.famcocorp.com

) E-mail: info@famcocorp.com

19

MAS

DAF

Mas Grup
m m Curve No:1040.a 2P 50
mascrup| OPLT 100-315 (2980 rRPM Yy
Q- CAPACITY- Wsn]
0 » 40 80 8 100 120 10
[
= 3200 B0 (60165 70| |g
_ / 78 782
g 150 [T 070 L J N
= = 3004 -~ 75
9;: | 2650 / 70
w
= pe=271
E a
S = 2565 —=—of i YT
~ 100
£ \6)’
I
50
0
g
< i 3209 - 250 K4
T
o 200 T 3076 - 200 KW—
w e 3009 - 185 KW
% 150 %_/:--z;i--muxw
71p-132 KW
2 400) /é____gsgu—ﬂﬂl(w EEEEES
o~
f 50
0 |
0 100 200 300 400 500
Q - CAPACITY - (m3/h)
I |
£ e 1 7 3200
s 9 256 L~
2 4 —_,
Emm—————
< 2
0

(D) Tel:obiI-F Aoooo 9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

o jssls

LY 1]
wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 125-400 Mas Grup
m Curve No:1245.a 6P 50 m Y TAFT Y 3 pe
mas erup | OPLT 125-400 [osorPM |3 MAS s:mm‘ SPLT 125-400 [14s0RPM |3
Q- CAPACITY - (Ifsn) Q-CAPACITY-  [Vsn)
0 2[0 4‘0 E’JO 8‘0 ‘l‘ﬂﬂ 0 2‘0 4‘0 EIO 8‘0 1‘00 1{20 1I40 1‘60
T 80
s [T ""‘!?L-%P—Ei L I ____;_”__;L.i i
E { m”“ 77 E " I~ 4308 —| 756 w2
2 25 . N 2 60 = 4089 N
E l— 3938 70 % 70
= = 3708 \ = [ 3799 — il
S 20 < 50 \ .
£ =] : e I A SRVl
E é 40 — [
s = = \\g
\é/ 30
10
20
8 10
0 120
g 2 g
X L= 4508 - 30 KW, < 100 4505 - 110 KW
T 25 o =
& /’_’415__2”‘” & g //‘:’T;:;::;\ium
- et 2 1
5 B SR : o
a — b o %_‘_’.‘am‘n 55 KW
o 10 e 3350 - 11 KW_| & e e 3484 - 45 KW.
o o
° |
o t
0 100 200 300 0 100 200 300 400 500 600
Q- CAPACITY - (m3/h) 5 Q - CAPACITY - (m3/h)
s T
T 5 /1508 = 10 /! 1508
= /m"//’ % HE 57
T T 6
g ) = 8, B e
1 2
0 0
20
E)www.famcocorp.com P
L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
;‘,v: E-mail: info@famcocorp.com -
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

(@) @famco_group



FAMCO

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 150-250

(445 DAF]

Curve No:1025.a. 6P

mas grup | SPLT 150-250 [osorPM [z
G- CAPACITY- (Fen)
0 10 20 0 40 50 60 70
| | 1 1 1 | | |
P FTTE T
50 g0
| 27808 ==—r 70 75
- 12 v 7 8040 4
E L 2644 -—,ﬁL #3 80
' [
2 | >\
ﬁ 10.—2439—_@77&< ™ N 75
: it
5 o
= I— 225
IE 8 L |70
£ I~ 2050 >2(>/
" \\</<
4 N
2
0
;E 10 1
X - ST K
£ . | 2789 - 11 KW
o 2648 - 7.5 KW
o e g-5.
R e e
Py [ = 2059 - 3 KW
n 2 .--——"""-"---—"""‘.—-__..----—---"'_'-_.-l
[ ]
0
0 50 100 150 200 250 300
Q- CAPACITY - (m3/h)
£ 3 | 278g
r 2 | 205 ¢
5 - /
% 1 —
0

)www.famcocorp.com

21

MAS

DAF

Mas Grup

[M4s |DAF|

SPLT 150-250

Curve No:15a.4P

50
Hz.

MAS GRUP 1480 RPM
Q- CAPACITY- (Vsn)
0 20 40 6 0 100 120
200 L 50 s0| o
—_ 25 e —— 75 80
E 83
~ B4
- = 2590 —e | 83
EE 20 }
I b 2408 e | ‘
.g |
= 80
. 15 |=2208
£ T
x 75
10 I~
5
0
g
3 30 L~ 2804 - 30 KW,
1 /
H | =T 2599 - 22 KW
E . /"_-‘ e 200
o /__..——""_'—-____..—r—""_'/ 240“["9-5 i
o ENERREC s MRS L 2205 - 15 KW
I
E 10 e e
.___-—""—_
0
0 100 200 300 400
Q - CAPACITY - (m3/h)
5
‘E‘ 4 // 2808
5 220 8
z =
o 2
|
0

ﬁfv E-mail: info@famcocorp.com

©

) @famco_group

() Tel:oPl-E Acooo k9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW b cuds oBuliull (59549)



FAMCO

o jssls

wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 150-250 Mas Grup
mm Curve No:15a.2P 50
| MAS GRUP SPLT 150-250 2950 RPM Hz.
Q-CAPACITY- Wsn)
0 En‘ﬂ WIDD 1{50 2|00 250
I [
| I
100 _2snn:_____ 50 g0 20 Ir i
E 2708 — il 62 |
i P 260 82
g ™ iﬁ AL
W 80— 2450 ™
T ; t a0
z za]g!—__:Fﬁi\
'T 60 == 22089 o P, S
E L‘-A\Q\X 75
40 <
20
0
= 250
< = 2804 - 250 KW
= | / '
! 200 1 e 270 - 200 KW-
T E e 0609 - 185 KW
E 150 | e /ﬁ-”'—’:qfsu—wn KW__
o i I vy | et o 2338 - 132 KW
2 100 ;”"":-__-f'-’-""—::ms-n kw_ |
a 50 :—",.——-—-__ﬁ—-—""——_
0
0 100 200 300 400 500 600 700 800 900
Q- CAPACITY - (m3/h)
14 .
= 12 ] Y 2800
‘E“ 10 2208 2
r 8
 :
= 2
0
22
E)www.famcocorp.com e
L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
;‘,v: E-mail: info@famcocorp.com -
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

(@) @famco_group



FAMCO

o jssls

LY 1]
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 150-315 Mas Grup
Curve No:1540.a 4P Curve No:1540.a.2P
(M4s]DAF] 50 (M43 |DAF] 50
MAS GRUP SPLT 150-315 1480 RPM Hz. MAS GRUP SPLT 150-315 2980 RPM Hz.
Q- CAPACITY - [fn) Q- CAPACITY - (V]
0 ELO 1‘00 1]50 2‘00 0 5‘0 WIDD 1150 2‘00 2‘50
' 160 J‘
L 3408 50 alo L3200 e |50 60 gy =
‘E 40 ﬁ\"\ 70 75 E 140 "3”"'—"%-.. 75
== = 3208 ~. a0 = f TT L
3 80.7 3 120 [~ 2929 \r\ 78
W 3008 7580\ z M m <
T T 275 e S
s 30 [— 2860 | ~N 75 T 100 [~ 2688 ———l S
2 e = 2599 ————
- Tq ' 70
T E 80 T ™ 9
T, T \KQ 65
\Q,/\ )){ gﬂ 60 ™.,
\< A
40
10
20
0 400
g 60 £
< 5 /—-"’""'—_34”"’5;5 il < 300 T 4SRN
o L] L 3208 - 45 KW o e
w40 et s } w /-zaza-zsn KW/
% i /—::'/ [ et 3008 - 37 KW % 2001 a2 kW] |
& —— o] 2865 - 30 KW b %________,. 2604 - 105 KW
- 20— ﬂ_ﬂ:—:— 648 - 22 KW o ﬁff# P R
& e e a 100
10—
0 0
0 100 200 300 400 500 600 700 0 200 400 600 800 1000
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
T
£ 2 | 7 3408 £ :; ,/ 3208
T o4 %40 = 10 259/;/
8
% 3 e B 6
o 2 g 4
Z ; 2
0 0
23
E)www.famcocorp.com P _
L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
() E-mail: info@famcocorp.com -
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

@famco_group

@



FAMCO

o jssls

LY 1]
wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 150-400 Mas Grup
Curve No:1545.a 6P | Curve No:1545.a 4P
(M4S DAF| 50 |MAS |DAF| 50
MAS GRUP SPLT 150-400 980 RPM Hz. MAS GRUP SPLT 150-400 1480 RPM Hz.
Q- CAPACITY - [sn) Q-CAPACITY - [4sn)
0 2‘0 4ID EID BJD 1‘00 1‘20 1‘40 0 5‘0 ‘!IDI] ‘IISU 2‘00
\ 80 i
L asop Ll 20 0| |70 L asog 50 B0 70| ¢
E 30 L b _ﬁj\ 80 ol T 7044350 TL---._ 80 5, .
81
2 80 2 50 pr 4108 e 80
% I— 3858 75 % — 3868 -—-.4_ \@%ﬁ
g 70 8 50 N,
° |— 3600 \ ° ™~ ol
T : LRI
£ "”““_LJ\I\\ N R i - ™~
: > : LB
30
K\
b ™ 20
10
0 n
s 4 s 140
< ] g 120 I
<, [ e < e
] //"—'_— H ] - e il -a0kW
% 55 L e 3850 - 22 KW % ?ﬁ_——-agu—?s KW
o " T 3608 - 18.5 KW o 60 %/".—f"‘ 3454 55 KW
A //ﬁ__—— 3388 - 16 KW & R B e
g N
; 20
0 | 0
0 100 200 300 400 500 0 100 200 300 400 500 600 700 800
Q - CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
B 12 : :
E ; 338 8 /- 450a E 10 } / 1508
T 5 ; T8 3454 ,/
T 4 s I 6 P
w3 P w
g 2 Py g ¢
0 0
24
E)www.famcocorp.com e )
(D Tel:obi-F A o000 F1q (215 Uagsato 6312) (Sl 6)S) ju Pl ioghsS « ()hgs
n::;; E-mail: info@famcocorp.com =
= (E) Fax:oP1 - FFAqESEP WSy ¢y cuds o8uiuUL 59549y

(@) @famco_group



FAMCO

o jssls

wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 150-500 Mas Grup
Curve No:15a.6P Curve No:15a 4P
(M4S |DAF] 50 Mas DAF 50
MAS GRUP SPLT 150-500 980 RPM Hz. MAS GRUP SPLT 150-500 1480 RPM Hz.
Q- CAPACITY - [fsn] Q-CAPACITY - [sn]
0 210 4‘0 G‘O EID 1‘00 !‘20 0 SIO 1‘00 150
| | i
oo o 0 0 55_!7" 120 o0 5060 g5 o |
— 75 —_— [=. @ == 75
£ 76363 £ 7 Fﬁ%“ma |
E h— 5280 ﬁﬁm& ; 100 b= 5308 "oy L L
g 40 = 5nog 70 5 = 5056 —— ! 70
; = 4724 g g0 |— 4784 ‘
5 s -4559-_.._LL[ ‘ s
30| 4350 = - 85
; \é £ <
20
40
10 3
0 0
5 Z 20
5608 - 200 KW
xT 50 L EBM{ aeiad ¥ /..-’-—/553: 185 KW
E ] 5289 - 45 KW & 150 / 5308 - 160 KW
= 7 - 500p - 37 KW = /;’;ﬁuﬁe-wz KW
o 30 A T o /4 1788 - 110KW__|
o e 4724 - 30 K a 100 e e 455 - 30 KW
- 20 e e 2 kW - /”{"/’4/ |
e a 50?;—’-—
10 ="
0 0
0 100 200 300 400 0 100 200 300 400 500 600
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
10 ‘ :
g 4 R £ s | seoa
T 3 1359 // ; 6 4559
5 2 B [ L
o o
Z 1 2 ==
0 0
25
E)www.famcocorp.com 0 1o . i o i
D) Tel:eP1-F A oo oo 9 (2s5 Uograsa 0312) (5,54 01)S)ju P yiogLS « (ylygs
E-mail: info@famcocorp.com
(E) Fax:oP1 - FFAqESEP WS Wyl cuds 0BuiuUL (59,49,

@famco_group



FAMCO

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 200-315

m m Curve No:2040.a 6P 50
MAS GRUP SPLT 200-315 980 RPM Hz.
Q-CAPACITY- (Ifsn)
0 2 “0 & @ 100 120 140 160
I
|
50
163 60 5
£ 75
= = 30308 e wl
* 441 1] |- S I S I N (N Y
E 78
i = 2949 e
I 12 75
: LT
8 70
S I 2678
- 10 ™ N
E o= 2419 \74 \/%’
\ /\
6 N . 5
= N
| 60
4 ~
2
28
3
£ 5 e 3280 - 22 KW
o /—__/___—_.—- 303 - 18.5 KW
3 et
I
& 10 %ﬁ-""— 2679 -11 KW
a e 2415 - 7.5 KW
P st
0
0 100 200 300 400 500 600
Q- CAPACITY - (m3/h)
8 T
£ g E / 3280
T 5 241 0
I 4 ra P
2 3 pd ,»”'
s 2 P
1 _!,7""
0 L

)www.famcocorp.com

n::;; E-mail: info@famcocorp.com

(@) @famco_group

26

MAS

DAF

Mas Grup

SPLT 200-315

Curve No:2040.a 4P

1480 RPM

50
Hz.

Hm - Total HEAD - (M)

P2 - POWER -(KW)

NPSH - (m)

30

20

10

100

150
1

Q-CAPACITY - [sn]
200 250

50

0 65

78
™
™.,

78

X
ol

o]

=3280 - 75 KW
1
|

L 292 - 55 KW

t t
286 - 45 KW

I\

L 268 - 37 KW |

2500 - 30 KW

200

300

400

500

600

Q- CAPACITY - (m3/h)

700 800 900

|
/ 3284
/ ]

(D Telzob1-F Aoooo 9

©) Fax:op) - FEAIFESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cual a8uiuUL (595295




FAMCE

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 200-400

mm Curve No:2040.a 6P 50
mas crup | OPLT 200-400 [ogorPM [}
Q- CAPACITY- Wsn)
0 % 100 150
30 f= 4300 :_—5"—5"——70—-75—--“
E 83 435
= a3
a 25 [=Als — 7\5\\ o
<
u = 3784 —%@j&x L
S 20 ~
2 I— 3430 _J—LLMQ ><?u
E
il \<(’\
10
5
0
§' 50
X =
T a0 " =
E —— e 4038 - 37 KW
% 30 /-— [t 3788 - 30 KW
o 2 ,///ﬁ 3439 - 22 KW.
g =
—
0
0 100 200 300 400 500 600 700
Q- CAPACITY - (m3/h)
6 ]
E 5 /4308
= i 3439 A
I 3 -
<
0

C)www.famcocorp.com

ﬁfv E-mail: info@famcocorp.com

(@) @famco_group

27

MAS

DAF

Mas Grup

mm Curve No:2040 0. 4P 50
mas erup | OPLT 200-400 1480 RPM Ty
Q- CAPACITY - Wan)
0 50 100 150 20 ol
" L 430 — 0 B0 707 75 80
- I 83
E | ’-*{\P 836
S 60— ~— 3
) l 80
P ‘“‘““L‘T*ﬂﬁ%
£ s 7& \\75
I = 3600
e ) o
g =3408
. L ~
T 7
30 \\<
20
10
0 |
g f
< 150 | /_lmgﬂsu KW
. |
o | e 4105 - 132 KW
E 100 | %433&—110 Kw
g | /_,_—-—' 360s - 80 KW
a . [ 3408 - 75 KW
& %%
* |
; |
0 200 400 600 800 1000
Q- CAPACITY - (m3/h)
= | 3108 P
10 1308
‘E‘ 8 ; / ,/
I 6 S A
2 4 ST aEs s
[ P i
< 2
0

() Tel:oPl-E Acooo k9

) Fax:ob) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMCO

o jssls

wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 200-500 Mas Grup
| Curve No:20a 6P o 1 Curve No:20a 4P
(MAS |DAF| 50 DAF| 50
MAS GRUP SPLT 200-500 980 RPM Hz. MAS GRUP SPLT 200-500 1490 RPM Hz.
Q- CAPACITY - (Wsn) Q-CAPACITY - s
0 50 100 150 200 250 [] 100 200 300 400
| ; | 1 1 Il 120 | 1 1 1
50 |
k=~ 5605 50 gg =s60pL._ 50 5o
. F QE : E 100}=5308 P
= 1Y 80 =190 L0
Q 40 —~s5054 ‘T\Ensas =] = 5005 . 2%
o w Y]
x - i 15 T 80 0= 4700 < 42
-g " W og P~ 4545 | [T 70
2 3 _”5“"‘["--‘\42 -, \ = = 4408 — >\
. 2 60 ‘\ M
: 2R : i R
20
\K\ a0 \be\
10 55
) 0
g % < 40
Lf, 100 e 5602 - 110 KW KT, | 5608 - 355 KWk
@ g e 5300 - 90 KW, o 300 Smiinesaseam; 530g - 315 KW/
W [ 4 5050 - 75 KW w 5008 - 250 KW
1 e T g B =y
a 40 % 435g - 45 KW ' /__,—-f—-"/ e e 4‘33!‘16&?(%“
R & 100 B
20 # !
0 0 |
0 200 400 600 800 1000 0 200 400 600 800 1000 1200 1400 1600
Q - CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
14
- 5 ] — 7as
3 ] 435 g 5608 = 12 5604
T A / 7 e 440 6 /.
r 3 P r 8
o 2 ] » 6
o = o 4
2 4 Z
0 0
28
E)www.famcocorp.com o
_ (L) Tel:oP1-FF Ao ooo |£9 (EJSuag.m.an oalz) (g Sudd alyS)ju Pl yioghsS « )lygs
=) E-mail: info@famcocorp.com
. (E) Fax:oP1 - FFAqESEP WSy by cuas s8uiuUL (595295

(c) @famco_group



FAMCO

o jssls

LY 1]
wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 200-670 Mas Grup
Curve No:2060.a 6P Curve No:2060.a 4P
(M4s DAF] 50 MASs DAF] 50
MAS GRUP SPLT 200-670 990 RPM Hz. MAS GRUP SPLT 200-670 1490 RPM Hz.
Q-CAPACITY - [Vsn] 0 -CAPACITY - [Vsn]
0 E‘»D ‘!IDO 1I£0 200 ZJEO ‘ 0 WIOU %ﬂﬂ 3‘00 4{00
| \
70 6800 —_ 50 60 65 70 || 160 = 6009 S0 6 5‘5*7"*75
= e 6520 ey 78 _— e 6528 » 78
O ey e e e ufr o T
a — [a] |— 6204 « 7
< e 6004 —e] o o 1] Foe 'iﬁ\;:[\* 5
g ¥ 1200 5p0 ] o ~
3 o N7 - ki :-L‘tZ v, ?7:><>Q\ 70
'2 b= 5424 IE 100 — .
é 40 P T, 65 é %Q@BE
T \ I 80 ™, <<
30 &0 >(
60
20
40
10 20
0 n
800
£ 200 g 700
X 6808 - 200 KWy X L~ 680g - 700 KW
T %ﬁsz; - 185 KW T 600 //- 6526 - 630 KW
g O imo iy & o ey
= /_..-- 600g - 132 KW = ____:_‘.f_-__,-” /_.—-ﬁuua - 450 KW
© 100 571 110KW O 400 e S0 00 KW —
o %_‘_—":—- 5420 - 90 KW B 300 T 5624 - 355 KW
o~ _.-—-/,._---"""— ~ 200
o 507% ] o
| 100 | f
0 ol | |
0 200 400 600 800 1000 0 200 400 600 800 1000 1200 1400 1600
Q - CAPACITY - (m3/h) Q - CAPACITY = (m3/h)
- 5 I .l =10 S62p L~
£ saze_~ bils E s ¢ 6809
i = T i
o 2 ,.-‘A/ @ 4
2 1\;—-?—__——‘ Ry ———
0 L 0
29
E)www.famcocorp.com e
= 10 Tel:eP1-F A oo oo 9 (205 Uagsaa 0312) (5,84l 01)S)ju P yioghS « ()lygs
E-mail: info@famcocorp.com
(E) Fax:oP1 - FFAqESEP P Syl cuad oBuiuUL (595495

@famco_group



FAMCO

I—I.ﬂ-l-lﬂH;lh
wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 250-315 Mas Grup
Curve No:2540.a 6P Curve No:2540 a 4P
[M4s | DAF] 50 [Was [DAF| 50
MAS GRUP SPLT 250-315 980 RPM Hz. MAS GRUP SPLT 250-315 1480 RPM Hz.
G- CAPACITY-  (Fen) Q- CAPACITY - Ven)
0 SII] 1‘aa 1{50 2‘00 250 0 1LDﬂ 2‘00 3100 4‘00
| I I
L -_-]Ellln:-_ 807075 B b— 3300 — 80 7 75' i
- ] 83 - 83
E 14 }[ 77-7*\3'5 851 E —3‘7’_q@m\ 85 951
g — 304p = M\/ )Q et é 30 1= 3024 ?i' a4
E 12 —zann‘ 80 % & @
T f-2me ?Qk >\5 [ I
i ~ N : f
E >< 70 P 7
T 8 I \(V
6
" 10
2
0 128
3 g
x 30 3300 - 30 KW| X 100 = 3305 - 110 KW
& ] & s e 317 90 KW
w - LT 3040 - 22 KW w :—’/',-;_- 3026 - 75 KW
% —_____/-—' /_—:_..._- 2908 - 18.5 KW % 60 R e et
o =" /_-—’_:.:ﬁ—— 2750 - 15 KW o ____—--"""_____.//"____.-—--"" arbd ok B
~ 1073'—;5_—-' o 40 e
e O gofrrEET
0 0
0 100 200 300 400 500 600 700 800 900 0 200 400 600 800 1000 1200 1400
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
= B ‘f v 330 = 10 Z 330
5 ] ] o
5 4 2754 P E" 8 .
I 3 // T 6 276 @ ,/
2 e o . ] ‘
zZ B== i z ,
| |
0 I I 0
30
E)www.famcocorp.com i )
_ L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
) E-mail: info@famcocorp.com =
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

(@) @famco_group



FAMCO

o jssls

LY 1]
wr 1 « wPLT.M Series m m
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 250-400 Mas Grup
Curve No:2545 a 6P Curve No:2545.a 4P
[Mas TDAF) 50 [MAs |DAF] 50
MAS GRUP SPLT 250-400 980 RPM Hz. MAS GRUP SPLT 250-400 1480 RPM Hz.
0 1]00 2|00 Q’CAPAC‘TY’%O%"S“] 0 1‘ﬂﬂ Z‘DD 3‘00 Q_CAAPL,DACF‘W_ et 5‘00
o 450 i 7}0 75 i e 60 70 75
|— 4504 — BO gy T "ﬁ— 80 g3
- = 440¢ —=— 85 = 85
£ 85.4 E gob1350 854
25 %\“ 83 . o
g b= 4074 —xf 80 3 ::;g: 8
u w osof
T 20—3&5:__ 75 I [~ 3868 75
[} 5} 70
s = 3650 — ANE € ——367nﬂ @
5 | 3455 mti\@>§>§> ko4 = 3455 ——el | P
% R == T ™ ‘ E %
— B —
ﬂ*:% ?g . e
10 -
20
5 10
100 0
g £ 300
¥ 80 o 150g - 90 KW| X 4509 - 315 KV
T [LLLLirrs ddin 15 100 D [~ 4356 - 250 KW
W 60 / W 200 Au-aun KW.
= e | oo 4073 - 55 KW = %nnal B85 KW
2 i /: 3858 - 45 KW 2 // 386¢ - 160 KW
S T P o 100] Tren DKW
o 20/ f;fzzkw o
\ [
0 1 | 0 i
0 200 400 600 800 1000 1200 0 500 1000 1500 2000
Q - CAPACITY - (m3/h) i Q - CAPACITY - (m3/h)
B ; // 4sn¢! £ ;‘g /’ 1500
bl 7 v aE
4 P 8 P
% 3 3209 / 5 6 345 g e
0 L 0
31
E)www.famcocorp.com @ Tol.or1- veee . T o
L9 Tel:oFl-F A 9 (2)5 Uagrato 6312) (5 Suil 0l)S) ju P pioghsS « (lygs
I‘Z‘y: E-mail: info@famcocorp.com -
= (E) Fax:oP1 - FFAqESEP 1P Syl cuas 08Ul (59549

(@) @famco_group



FAMCO

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 250-500

m m Curve No:25a 6P 50
MAS GRUP SPLT 250-500 980 RPM Hz.
Q-CAPACITY- [Vsn)
0 100 200 300
50
| — 5604 i 80 | | 29 I
‘E I 54255 =—p B 83
‘-.’ 40— N\B 853
a 5150 nee T 85
ﬁ |~ 490p ~| 33
I 80
g 31 444g b \75 70
fore —
5 -
£
T
20 \¥ \ 60
Lo
10
0
140
3
X 120 5604 - 132 KW
T 5425 - 110 KW
o 100
E - EEE=ES SEEEEEE 515¢—ann‘v
o - e 4308 - 75 KW
o 60 e [ 444555 Kw
~ wg
o
20
ol
0 200 400 600 800 1000 1200 1400
Q- CAPACITY - (m3/h)
6 ]
£ s /5600
T4 //
T 3 1444 b
2 2 ' /
<
0

E)www.famcocorp.com

= .
() E-mail: info@famcocorp.com

@

@famco_group

32

MAS

DAF

Mas Grup
IE‘ Curve No:25a 4P 50
MAS GRUP | SPLT 250-500 1490 RPM Hz.
Q-CAPACITY- [Vsn]
0 100 200 300 400 500
5608 60
- —] 0 35
£ 100 = 5480 =] s
~_'— == 5320 85 e
a =5178 -
< 83
% 80 j= 4888 = =80
= 4648
: Pl il
'—
T ™
£ N N
I
L]
40 \
N\
20
|
|
0 |
E 500
< | 5608 - 450 KW
T 400 ! T488 - 400 KW
[+4 | [ 53248 - 355 KW|
E 300 ] - 5178 - 315 KW__|
o / 488 - 250 KW
. 200 o 4648 - 200 KW. o
o /-—— 452p - 185 KW
pe———
0
0 500 1000 1500 2000
Q- CAPACITY - (m3/h)
= 10 ! A 560g ————
£ z =
I 6
5 . ﬁz #
% 2 ——My
0

() Tel:oPl-E Acooo k9

©) Fax:op) - FEAIFESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMC

o

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 350-400

M4s |DAF]

Curve No:2540.a.6P

MAS GRUP SPLT 350-400 980 RPM Hz.
Q- CAPACITY-  sn]
0 100 200 300 400 500
[
= 4384 8070 ¢ }
- B0
E 25 taw 83 s
" 854
: Faryd
W50 =303, g3
x 80
s b= 3644
L 151327 P, 70
£ =78 N N
) i x>: ‘ﬁx i
?\
5
0
§‘ 100
X - et 4380 - 90 KW
o /--;_,_____--— 4188 - 75 KW
E 50 e ——r 36385 KW
e
2 /:‘f—:"""_—:a;— - a5 KW |
40 o !
c:‘ el _——-"‘"‘_____,__———--— 347@ - 37 KW |
e 3275 - 30 KW
& 3 %
0
0 500 1000 1500
Q - CAPACITY - (m3/h)
5
= 438
E . ZE10
= 3 27 <
g o EoTIES=Ss=ac=s
Z 1
1}

E)www.famcocorp.com

) @famco_group

) E-mail: info@famcocorp.com

33

MAS

DAF

Mas Grup
[mm Curve No:2540.a 4P 50
Hms crup| SPLT350-400 [1490RPM |[R:.
Q- CAPACITY - Vsn)
0 100 20 0 400 500 600 700
sofm e — 80 20|, i
E 83
= b= 4150 e | 5
2 gl \b\ a5
3 = 3890 | 83
L = 3790 o
= = 3670 ] N
5 40l 75
E 3509 ] \ )\
. I~ 3300 70
E L
I 30 ~ N \,
N
20
Y\ KN
10
0
g
< e 4385 - 315 KW
P =T 4154 - 250 |‘<w
— 4150 -
E _____//_._"':::—3-8“ S200KW_ |
3799 - 185 KW
o _____é_—-— To7a 160 KW
& ey LR TN
0 5‘00 1000 1500 2000 2500
Q - CAPACITY - (m3/h)
= I } 1386 |
Es iy 2
4 ! v
5 3 i —
a —
=z 2
1 -
5 I

() Tel:oPl-E Acooo k9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

o jssls

LY 1]
Split Case Double Suction Centrifugal Pump
Performance Range SPLT 350-500 Mas Grup
mm Curve No:35a 6P 50 mm Curve No:35a 4P 50
| MAS GRUP SPLT 350-500 980 RPM Hz. MAS GRUP SPLT 350-500 1490 RPM Hz.
Q- CAPACITY - Wen) Q- CAPACITY - Wan]
0 1]00 ZIUﬂ JIOO 4‘00 5100 EiDU 0 1‘00 ZLOD 3‘00 -‘1‘00 !'Jlﬂﬂ liOD T‘Oﬂ E‘OU 9‘00
‘ 120 il i
50 L 500 st 075 B‘ | s60s | 0 8070 4 Btl
T s < 528 T —543.;—.;;: 2 g2
e [~ 5344 82 = 1005308 —H 82
a r=515a 8 a 5120 gt
a 40 ‘ < == 500¢ ——y
i —4Bﬂﬂﬂ 75 w | 4975 75
T T
® |— 4709 70 5 80}1—474p —] N 70
S St E
= 3 \ N = \
£ \&6 g o0 \Y% NS
20 N N
40
10 %
0 0
§~ 560 §~ 900
X 5604 - 250 K X 800 5600 800 K
v 200 5416 - 200 KW : 700 o = 5430 - 700 KW
i / :’-——--—534:—135 KW & 600 //,_ 5308 - 630 KW———
= 150 s e 5158 - 160 KW = 500 — 0 500 KW
2 / e 1908 132 KW 2 400 e 155y - 450 KW
h.‘ 100 | /’__?_._—uua_nuxw | h.‘ 300 | s e 47458 - 400 KW
Y o 200
100
0 ol
0 500 1000 1500 2000 0 500 1000 1500 2000 2500 3000
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
— 6 T . 12 i
E s juu // 5609 E 1(; i /5608
] 4 '
3 > — 5 ¢ =k
a 2 _44/ P
= 1?—7 J‘ = 2
ol J 0
34
E)www.famcocorp.com P _
- (L) Tel:oP1-FF Ao ooo |£9 (EJS uagsaia 63l2) (gSudd o)S)ju P) yiogls cobgd
() E-mail: info@famcocorp.com =
_ (Z) Fax:eP)l - FFIaFESEY 1P Syl cuas 08Ul (59549

@famco_group

@



FAMCO

ur 1 « wPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT 500-500

Performance Range

mm Curve No:5045 a 8P 50
mas erur | SPLT 500-500 740 RPM Hz.
- CAPACITY - Wer)
0 200 400 500 0 1000
20
[
- 4738 50 1
g: ™ 4569 65 o
a ™ 4370 75
o1 ~%83
T 7
= ™ 100
L. 75
]
= 70
E 10 A_E5.
T \ Q{
\
5
N
0
§‘ 140
X 120 4739 - 132 KV
@ 100 e e o kw
E == e 4374 - 90 KW
o e [ e
li!- 60,'___.———""—'" 4008 - 75 KW
N a0
20
0
0 1000 2000 3000 4000
= Q- CAPACITY - (m3/h)
z b 00—y ——
T8 e
5
T 2
o —
o 3
Z 2 T
a 1

E)www.famcocorp.com

E-mail: info@famcocorp.com

@famco_group

35

MAS

DAF

Mas Grup

MAS DAF]

SPLT

Curve No:5045.a 6P

500-500

50
Hz.

MAS GRUP 990 RPM
Q- CAPACITY- Wsn)
0 200 400 800 800 1000 1200 1400 1600
40
—_ "495;\~
E 50
= \4132_\-%& 65 5y
[a] 5
a4 4 ™ 4524 77\ 78
w ——
x ™ 4308 7
s ™ a29g o 78
o - 75
: N
. 70
E 20 ™ ™~
I N 13
RS I
10
N
0
§“ 400
< e 495 - 355 KV
] | T |
o 300 ,.-—=“"______.-.——- 4736 - 315 KW——
w /——""'—_-_ 1
= R e et 452 - 250 KW
0 200 [ et R MR 4306 - 200 KW.
o e e 42955 - 185 KW/
a 100
0
0 1000 2000 3000 4000 5000
Q- CAPACITY - (m3/h)
12
T 10 288 7 19vs
T s ~
s -
o 4 SRR T el
< 2
0

() Tel:oPl-E Acooo k9

) Fax:op) - FEAIESEP

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529




FAMCO

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump m m]

Performance Range SPLT 500-500 Mas Grup
m m Curve No:5045.a.4P 50
MAS GRUP SPLT 500-500 1480 RPM Hz.
Q-CAPACITY - [Vsn)
0 5‘00 1\000 ‘I‘Eﬂﬂ 2‘000
0
—_ ™ 1950
E B0 gy =50 60 g5
. I~ 70
9’: 70 461 b‘ 75
w \4385 29
E- I e e
= 60|  436@
[} {0
3 =TI RS
. 50 3 < LN
k &%é&ﬁ
\ RN
30 \
N
20
10
~400
E 200 e 4950 - 1200 KW
o 000 R 734 - 1000 KW—
E 800 e 4610 - 900 KW
L i— "
) s e 2368 TO0KW. |
o 400
o
200
0
0 1000 2000 3000 4000 5000 6000 7000 8000
Q- CAPACITY - (m3/h)
436 &
= 20 - 4950
E -
T 15 ,/
T
@10 m—— e
Z s
0
36
E)www.famcocorp.com P _
L0 Tel:oFl-F A eeoo 9 (2s5 Uagrato 6312) (5 Sui ol)S) ju P ioghsS « ¢lygs
) E-mail: info@famcocorp.com =
. (Z) Fax:eP)l - FFIaFESEY 1P Sl cuds oBuiuUL (59549

(@) @famco_group



FAMCO

o jssls

or 1 « WPLT.M Series
Split Case Double Suction Centrifugal Pump
Dimension Table for SPLT and SPLT.M

F 3K 3

MAS |DAF

Mas Grup

. ni
Dimension of SPLT
o Flanges
Pump | ¢ L f | h | h2 | H Al B| G | b |m|m|n|n|@| I |@d
Tyee | S |pNs|DNa| | ¢ P
S

65250 | A | 100 | 65 | 585 | 260 | 325 | 250 | 115 | 425 | 285 | 225 | 510 | 70 | 240 | 190 | 350 | 275 | 18 | 60 | 28
80-250 125 | 80 | 680 | 300 | 380 | 280 | 140 | 485 | 300 | 275 | 575 | 80 | 234 | 190 | 400 | 330 | 18 | 80 | 35
80-360 | B | 125 | 80 | 680 | 300 | 380 | 315 | 135 | 550 | 325 | 275 | 600 | 80 | 134 | 190 | 400 | 330 | 18 | 80 | 35
100-250 150 | 100 | 715 | 315 | 400 | 315 | 155 | 550 | 325 | 275 | 600 | 80 | 270 | 220 | 400 | 330 | 18 | 80 | 35
100315 | | 150 | 100 | 820 | 350 | 470 | 355 | 145 | 585 | 360 | 320 | 680 | 90 | 290 | 230 | 435 | 350 | 23 | 110 | 45
150-250 200 | 150 | 870 | 375 | 495 | 375 | 175 | 635 | 400 | 325 | 725 | 100 | 340 | 270 | 500 | 400 | 23 | 110 | 45
125-400 150 | 125 | 945 | 415 | 530 | 375 | 175 | 700 | 450 | 400 | 850 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-315 200 | 150 | 945 | 415 | 530 | 375 | 175 | 645 | 400 | 350 | 750 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-400 |  [7200 | 150 | 945 | 415 | 530 | 400 | 200 | 730 | 475 | 400 | 875 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-500 200 | 150 | 945 | 415 | 530 | 450 | 250 | 870 | 550 | 500 | 1050 | 100 | 370 | 300 | 650 | 550 | 23 | 110 | 55
200-315 250 | 200 | 975 | 430 | 545 | 430 | 205 | 730 | 450 | 375 | 825 | 100 | 430 | 360 | 500 | 400 | 23 | 110 | 55
200-400 250 | 200 | 975 | 430 | 545 | 430 | 205 | 790 | 525 | 425 | 950 | 100 | 430 | 360 | 600 | 500 | 23 | 110 | 55
200-500 250 | 200 | 1042 | 447 | 505 | 475 | 220 | 870 | 550 | 500 | 1050 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 65
250315 | _ [300 | 250 | 1062 | 457 | 605 | 500 | 225 | 860 | 525 | 450 | 975 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 65
250-400 300 | 250 | 1042 | 457 | 505 | 500 | 225 | 865 | 550 | 450 | 1000 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 65
250-500 300 | 250 | 1062 | 457 | 605 | 525 | 240 | 945 | 600 | 500 | 1100 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 65
350-400 400 | 350 | 1290 | 570 | 720 | 610 | 295 | 1010 | 600 | 500 | 1100 | 150 | 600 | 500 | 750 | 600 | 28 | 140 | 75
350500 | F | 400 | 350 | 1290 | 570 | 720 | 630 | 315 | 1055 | 650 | 550 | 1200 | 150 | 600 | 500 | 800 | 650 | 28 | 140 | 75
500-500 500 | 500 | 1538 | 694 | 844 | 760 | 370 | 1280 | 750 | 600 | 1350 | 150 | 700 | 600 | 800 | 650 | 28 | 140 | 75

Dimension of SPLT.M

Note: SPLT is soft packing design. However, SPLT.M is compact design and only mechanical seal application is

possible. All dimensions are in millimeters.

Flanges

Pump @ L

= P e f h1 h2 Hp A B G b m1 m2 n1 n2 Js | ad

Type |5 | DNs | DNd

65-250 A 100 65 455 195 | 260 | 250 | 115 425 285 | 225 510 70 240 | 190 | 350 | 275 | 18 60 28
80-250 125 80 507 212 | 295 | 280 | 140 485 300 | 275 575 80 234 | 190 | 400 | 330 | 18 80 32
80-360 B 125 80 507 212 | 295 | 315 | 135 550 325 | 275 600 80 234 | 190 | 400 | 330 | 18 80 32
100-250 150 100 545 230 | 315 | 315 | 155 550 325 | 275 600 80 270 | 220 | 400 | 330 | 18 80 32
100-315 c 150 100 615 260 | 355 | 355 | 145 585 360 | 320 680 90 290 | 230 | 435 | 350 | 23 | 110 | 40
150-250 200 150 665 285 | 380 | 375 | 175 635 400 | 325 725 100 | 340 | 270 | 500 | 400 | 23 | 110 | 40
125-400 150 125 696 300 | 396 | 375 | 175 700 450 | 400 850 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-315 200 150 696 300 | 396 | 375 | 175 645 400 | 350 750 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-400 D 200 150 696 300 | 396 | 400 | 200 730 475 | 400 875 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-500 200 150 696 300 | 396 | 450 | 250 870 550 | 500 | 1050 | 100 | 370 | 300 | 650 | 550 | 23 | 110 | 50
200-315 250 200 725 315 | 410 | 430 | 205 730 450 | 375 825 100 | 430 | 360 | 500 | 400 | 23 | 110 | 50
200-400 250 200 725 315 | 410 | 430 | 205 790 525 | 425 950 100 | 430 | 360 | 600 | 500 | 23 | 110 | 50
200-500 250 200 822 337 | 485 | 475 | 220 870 550 | 500 | 1050 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 60
250-315 E 300 250 842 347 | 495 | 500 | 225 860 525 | 450 975 100 | 480 | 410 | 650 | 550 | 28 | 140 | 60
250-400 300 250 822 337 | 485 | 500 | 225 865 550 | 450 | 1000 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 60
250-500 300 250 842 347 | 495 | 525 | 240 945 600 | 500 | 1100 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 60
350-400 F 400 350 1000 | 435 | 565 | 610 | 295 | 1010 | 600 | 500 | 1100 | 150 | 600 | 500 | 750 | 600 | 28 | 140 | 75

37

Jwww.famcocorp.com

Tel:oP1-FF Ao ooo 9

) E-mail: info@famcocorp.com
Fax:e Pl - FIEqaEsEP

@famco_group

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m
SPLT - Exploded View Mas Grup

PART LIST
PART PART PART PART

NO NAME NO NAME

01 Casing Lower Part 201 Roller Bearing

02 Casing Upper Part 210 Key for Impeller

05 Wear Ring 211 Key for Coupling

20 Impeller 220 Oil Seal

30 Bearing Housing 240 Soft Packing

34 Bearing Cover (Dead Side) 260 Plug

35 Bearing Cover (Motor Side) 270 Greaser

36 Bearing Housing Cover 276 Adjusting Tap

50 Stuffing Box 300 Casing Stud

54 Gland 301 Stud for Gland

56 Lantern Ring 320 Hexagonal Bolt

60 Pump Shaft 321 Bolt

70 Seal Sleeve 360 Nut for Casing Stud

72 Ring 361 Nut for Gland

73 Space Sleeve 363 Washer for Bearing

74 Nut for Bearing 400 O-Ring (Stuffing Box)

88 Water Thrower 401 O-Ring (Shaft Sleeve)

200 Ball Bearing

38
Ch)www.famcocorp.com
) Tel:oPl-F Aoooo £ 19 (255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs
) E-mail: info@famcocorp.com =
(=) Fax:oPl - FEI9FFFEY 1P Sl cuds oBuiuUL (59549

@famco_group



FAMCO

SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

SPLT.M - Exploded View

MAS |DAF

Mas Grup

PART LIST
PART PART PART PART
NO NAME NO NAME
01 Casing Lower Part 200 Ball Bearing
02 Casing Upper Part 201 Roller Bearing
05 Wear Ring 210 Key for Impeller
25 Impeller 211 Key for Coupling
30 Bearing Housing 220 Qil Seal
34 Bearing Housing Cover 250 Mechanical Seal Ring
35 Bearing Cover (Dead Side) 251 Mechanical Seal
50 Stuffing Box 260 Plug
60 Pump Shaft 270 Greaser
74 Nut for Bearing 276 Adjusting Tap
75 Space Sleeve 300 Casing Stud
88 Water Thrower 400 0O-Ring (Stuffing Box)

EG)www.famcocorp.com
) E-mail: info@famcocorp.com

) @famco_group

39

(%) Tel:oPl-FE Aoocoo |9

(5) Fax:ePl - FEIIESEY

(255 Uagsato 0312) (5,50 ol)S) ju Pl joghsS « 1y ligs

W SW oyl cuas oSuiuUL (59529



FAMCO

Lol

Head Office / Service Center:
Aydinli Mah. Birlik OSB. 1.No’lu Cadde No:17 Tuzla - ISTANBUL / TURKEY
Tel: +90 (216) 456 47 00 pbx Fax: +90 (216) 455 14 24

) Ankara Regional Directorate:
Asagi Ovecler Mah. 1329 Sok. No:6/9 Ovecler ANKARA / TURKEY
Tel: +90 (312) 472 81 60-67 Fax: +90 (312) 472 82 51

Factory: )
1. Organize Sanayi Bolgesi Parsel 249/5 Beykoy - DUZCE / TURKEY
Tel: +90 (380) 553 73 88 Fax: +90 (380) 553 71 29

www.masgrup.com info@masgrup.com

www.famcocorp.com
(D Telobi-F Aoooo Fq (2)5 Uagiaio 0312) (5,8l oS,y Pl o9l « lygs

L@J E-mail: info@famcocorp.com
©) Fax:op) - FEAIESEP 1P Syl i 08U (59549

( @famco_group



